REVIEW NOTES – THE ACCOUNTING CYCLE

In the double-entry accounting system, accounting input (and output) is based on an equation -- the accounting equation.  Every transaction (input) affects both sides equally; output always is in balance.  

Input is the recording of transactions -- accounting events -- that occur between the business entity and external parties.

These transactions are summarized periodically and presented in the financial statements:


- The Balance Sheet 


- The Income Statement


- The Statement of Owner’s Equity (or Statement of Retained Earnings)


- The Cash Flow Statement
Much of the technical aspect of accounting is performed by computers.  However, it is important to understand the process, and the flow of information through the accounts; someone has to come up with input for the computers!

THE ACCOUNTING EQUATION
Accounting events recorded in the double-entry accounting system are represented by the accounting equation:  Assets = Liabilities + Equity.  Each transaction affects both sides of the equation equally.
ACCOUNTING TRANSACTIONS
Transactions in accounting are accounting events that have occurred between the business and other entities.  Transactions are expressed in dollars.  So there are two criteria which must be met before a transaction can be recorded in the accounting records:

1.  The accounting event must have occurred, and

2.  The amount must be reasonably estimable. 

Examples of transactions are the purchase of assets for use in the business (such as a building, furniture, supplies, or goods for resale); the sale of goods or services to customers for cash or by extending credit; and borrowing money from the bank.

An example of an event that cannot be recorded (that is not an accounting event) is the signing of a contract for future performance of service or delivery of goods.  The accounting event (performance of service or delivery of goods) has not occurred.

All transactions recorded in the accounting records are summarized periodically and presented in financial statements.
THE ACCOUNTING CYCLE
The functions of accounting are to analyse, record, classify, summarize and communicate information.

1.
ANALYZE TRANSACTIONS -- determine which events should be recognized and at what amount.  To be recognized a transaction (or other economic event) must affect an element, be reasonably (reliably) measured, and be relevant.

2.
JOURNALIZE (record)



- general journal



- special journals 

· sales, purchases, cash receipts, cash payments 

       (computerized accounting packages)



- synoptic journal (spreadsheet – see Reed Chapter 2)

3.
POST (classify)



- general ledger




chart of accounts




   assets




   liabilities




   equity




   revenue




   expenses




   gains




   losses



- subsidiary ledgers - detailed listing by customer, asset, supplier, etc. of 


  amounts in the respective control accounts.




- accounts receivable




- capital assets




- accounts payable




- others as required

3.
TRIAL BALANCE  (debits = credits) -- a list of all accounts in the general ledger along with the balance of each.  If it does not balance, the bookkeeper determines why and makes any correcting entries required.  The bookkeeper or accountant reviews the listing to identify any accounts that may need adjusting.

4.
ADJUSTING ENTRIES -- made at the end of the accounting period.  Accounts are adjusted to an accrual accounting basis.  Every adjusting entry affects the balance sheet and the income statement.  Adjusting entries are journalized and posted.
Types of Adjusting Entries
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A prepaid asset (in part, or in total) is used up



Dr.  Expense



Cr. Prepaid asset






b.
Unearned revenue is earned


Dr. Liability



Cr. Revenue

c.
Accrued revenue earned


Dr. Accounts receivable (control only)



Cr. Revenue

d.
Accrued expense incurred


Dr. Expense



Cr. Liability

e. 
Estimated items (bad debts, amortization)


Dr. Expense



Cr. Contra-account

Estimating bad debts expense

When a company allows credit terms, it must use the allowance method to recognize bad debts expense.

The adjusting entry to record estimated bad debts expense is:


Dr.  Bad debts expense



Cr.  Allowance for doubtful accounts

Allowance for doubtful accounts is a contra-account.  A contra-account is an account that reduces the presented amount of an asset, liability, or equity without reducing the actual amount in the asset, liability or equity account.  

For example, the balance sheet (or notes to financial statements) presents the reader with the amount of accounts receivable, as well as the estimated cash value (net realizable value):

Accounts receivable




XXXXXX

Less:  Allowance for doubtful accounts


    XXXX
Net realizable value (estimated future cash flow)
XXXXXX

There are two methods of estimating bad debts expense.

1.  The Balance Sheet Method.  Accounts receivable is reviewed to determine the likely amount of uncollectible accounts.

2.  The Income Statement Method.  An estimated percent of sales is used to estimate the amount of uncollectible accounts.

When a particular account is determined to be uncollectible, it is written off.  The entry to write off an account is:


Dr.  Allowance for doubtful accounts



Cr.  Accounts receivable (control account and sub ledger account)

When a company normally does not sell on credit terms (e.g., McDonald’s), it may use the direct method to recognize bad debts expense.  If, on occasion, it does sell on credit terms, and the particular customer defaults, it simply writes-off the account.  The entry is:


Dr.  Bad debts expense



Cr.  Account receivable

5. 
ADJUSTING/CLOSING ENTRIES TO RECORD ENDING INVENTORY AND DETERMINE COST OF GOODS SOLD.

INVENTORY CONTROL SYSTEMS

There are two inventory control systems:  periodic and perpetual.

PERIODIC CONTROL SYSTEM

The inventory account is not updated during the accounting period.  Purchases are recorded in the purchases account.  Inventory is counted, costed, and valued at the end of the accounting period.  The inventory account is updated at that time.  Using this system, it is not known how much of an item should be in stock, only how much is in stock.  Using this system it is unlikely missing inventory will be detected until the income statement is prepared.  At that time, the cost of goods sold would be out of line with the amount of sales reported.  If the discrepancy is not significant, it may never be detected.

When a company uses the periodic inventory control system, an adjustment is required to update the inventory account and set up the cost of goods sold account at the end of the period.  Under this system, cost of goods sold is determined as follows:

Opening inventory

+ Purchases

= Goods available to be sold

- Ending inventory
= Cost of goods sold

PERPETUAL CONTROL SYSTEM

When a company uses the perpetual inventory control system, purchases are recorded in the inventory account.  There is no purchases system.  When a sale is made, the inventory account is reduced by the cost of the goods sold and the cost of goods sold account is increased.

The equation is:

Opening inventory

+ Purchases

- Cost of goods sold

= Ending inventory

COMPARISON OF THE TWO SYSTEMS

Assume the following:

Opening inventory  =  50 units at $10.00 = $500.00

Purchases  =  100 units at $10.00 = $1,000.00

Sales for the month  =  130 units at $20.00  = $2,600.00

The general ledger accounts appear as follows:

PERIODIC




  PERPETUAL


   Inventory




       Inventory

         500.00
           (opening inventory)
             500.00

(opening inventory)







          1,000.00
           (+ goods purchased)








       1,300.00    (- goods sold)







             200.00
            (= ending inventory)


   Purchases




Cost of Goods Sold

       1,000.00              (goods purchased)
          1,300.00

(goods sold - at cost)


        Sales




          Sales

 (goods sold)
    2,600.00

  
(goods sold)
         2,600.00

The amount of ending inventory is 


The amount that should be

unknown. 





in inventory is known.  This








amount can be compared

The amount is determined by physical


with the result of the physical count.

count.
Once the inventory is counted







and valued, the cost of goods sold is


Any unusual discrepancy can be

determined.





investigated.

The following adjusting entries are required to  update the inventory account and record cost of goods sold.

Adjusting entries required under the periodic system:

1.
Close opening inventory to cost of goods sold.  (It is assumed this inventory has been 
sold.)


Dr.
Cost of goods sold

500.00



Cr. Inventory



500.00

2.
Close purchases to cost of goods sold. 


Dr.
Cost of goods sold

1,000.00



Cr. 
Purchases


1,000.00

3.
Set up ending inventory and reduce cost of goods sold by amount of ending inventory


Dr. 
Inventory


200.00



Cr.
Cost of goods sold

200.00

The accounts appear as follows:



   Inventory



          Cost of goods sold

         500.00
     500.00


             500.00

(opening inventory)

         200.00




          1,000.00

 (+ purchases)









    200.00 (- ending inventory)
          200.00




          1,300.00
         (= cost of goods sold)

   Purchases






       1,000.00           1,000.00




          

On reviewing the cost of goods sold account under the periodic system you can see the equation:

Opening inventory

+ purchases

- ending inventory

= cost of goods sold

When you review the Inventory account under the perpetual system you can see the equation:

Opening inventory

+ purchases

- cost of goods sold

= ending inventory           

There is no need to set up the cost of goods sold account.  It has been accumulating costs as goods are sold.

If the value of ending inventory as determined by the physical count differs from the balance in the inventory account, an entry is made to adjust the balance.  The difference is charged to cost of goods sold.

Dr.  Cost of goods sold

(amount of difference)


Cr. Inventory


(amount of difference)

The perpetual system provides better control, but is more expensive.  Computers have made the use of perpetual inventory control systems feasible for many companies.  For example, when you go through the checkout at a supermarket, as your items pass over the panel and are recorded in the cash register, the computer system automatically records the increase in cash, the sale, the cost of the sale, and the reduction in inventory.

In both cases, cost of goods sold (an expense) is closed to the income summary account during the closing process.

5.
ADJUSTED TRIAL BALANCE (summarize) -- After journalizing and posting the adjusting entries, a second trial balance is prepared.  This trial balance consists of the adjusted balances.  The top portion of the trial balance (Cash to Capital Stock) is the Balance Sheet at the close of business on the last day of the accounting cycle.  The balance in Retained Earnings is the opening balance.  Retained Earnings is updated via the closing entries.  The bottom portion (all revenue and expense items) is the income statement for the accounting period.  If the trial balance is in balance, financial statements can be prepared.

6.
PREPARE FINANCIAL STATEMENTS (communicate)


a.   income statement [net income is required to complete the retained 
earnings (or owner’s equity) statement]


b.    statement of retained earnings or owner’s equity  (required before balance 
sheet can be completed)


c.    balance sheet (required before SCFP can be completed)


d.    statement of changes in financial position (cash flow statement)


e.   notes and supplementary schedules to support/explain information 
contained in the financial statements

7.
CLOSING ENTRIES

Balance sheet accounts are real (or permanent) accounts;  the balances carry forward from one accounting period to the next (For example, the balance in the cash account at the close of business on the last day of the accounting period is the balance in the cash account at the opening of business on the first day of the next accounting period).

Income statement accounts are nominal (or temporary) accounts.  Information is accumulated for each accounting period.  Therefore, at the end of each accounting period, the balances are closed through a clearing account, income summary, (to retained earnings which updates that account).  The balances at the opening of business on the first day of the next accounting period are zero – no revenue has been earned; no expenses incurred.  Information for the next accounting period now can be accumulated.

a.  Close revenue accounts to the income summary account

b.  Close expense accounts to the income summary account

c.  Close the income summary account to the retained earnings or owner’s equity account

d.  Close the dividend or drawings account to the retained earnings or owner’s equity account

8.
POST-CLOSING TRIAL BALANCE -- This last trial balance proves that debits and credits are in balance, and that the accounts have been properly cleared through the income summary account.  There should be no balances in any of the nominal accounts.  The post-closing trial balance is identical to the balance sheet.

9.
REVERSING ENTRIES -- Accrual adjusting entries (accrued revenues and accrued expenses) are reversed; deferrals are not reversed.

FORMS OF BUSINESS ORGANIZATION

There are three types of business organization:  sole proprietorships, partnerships, and corporations.

Sole Proprietorship

A sole proprietorship is a business owned by one person (the sole proprietor).  Many small businesses are sole proprietorships.  Single-owner professional practices (accounting, legal, medical, dental) are sole proprietorships.

A sole proprietorship is a separate accounting entity, but it is not a separate legal entity.  This means that the accounting records of the business contain only transactions relating to the business.  Assets, liabilities and other income of the owner are not included in the accounting records of the business (the entity assumption).  However, since it is not a separate legal entity, the owner is ultimately liable for the business’s debts and he or she must declare the business’s taxable income on his or her personal income tax return.

A sole proprietorship is not transferable.  If the owner sells the business, a new business is formed and legal liability is transferred to the new proprietor.

Partnerships

A partnership is a business owned by two or more persons.  Like sole proprietorships, partnerships are separate accounting entities, but not separate legal entities.  Professional firms that are owned by two or more persons (called partners) are partnerships.  Professionals are ethically (and legally) responsible for their professional conduct and are not allowed to shield this responsibility behind a corporate form of organization.  Partners are legally liable for the business’s liabilities.  Ownership is not transferable.  If a partner leaves the firm, or a new partner joins the firm, a new partnership is formed.

Corporations

Corporations are separate legal entities.  The owners of corporations are called shareholders.  Their ownership is represented by shares of the corporation’s common stock. Ownership of corporations is transferable.  Shareholders may sell their shares if they can find a buyer.  A major advantage of the corporate form of organization is that shareholders are not personally liable for the corporation’s liabilities.

A corporation’s name indicates that the business is a corporation.  The name includes Corporation, Corp., Incorporated, Inc., Limited, or Ltd. for example, Power Corp., Rogers Communications, Inc., New Brunswick Telephone Co. Ltd., Microsoft Corporation.

Balance Sheet Presentation for the Three Types of Organization
Presentation of assets and liabilities is identical for all three types of organization.  However, equity is presented differently for each form.

Sole Proprietorship.  The equity section of the sole proprietorship balance sheet contains only one line:


Owner’s equity:


Sharon Collins, capital




$ 60,000

The statement of owner’s equity (which is part of the financial statement package) provides details of the change in equity from the beginning to the end of the accounting period being reported.

	STATEMENT OF OWNER’S EQUITY
	

	Sharon Collins, Capital, August 1, 1996
	$          0

	Investment during period
	    60,000

	Net income for period
	            0

	Less:  Drawings for period
	            0

	Sharon Collins, capital, August 15, 1996
	$ 60,000


Drawings is the account in which withdrawals by the owner(s) of cash or other assets are recorded.  Drawings reduces equity.

Partnership.  Under the heading Partners’ equity, the equity for each partner is listed.
Partners’ Equity:

    Sharon Collins, Capital



$ 23,740

    Amy Wilson, Capital




   17,480
Total capital





$ 41,220

A separate set of accounts (capital and drawings) is maintained for each partner.

The statement of partners’ equity provides details of the changes in each partner’s equity during the accounting period being reported.

	PARTNER
	COLLINS
	WILSON
	TOTAL

	
	
	
	

	Equity, beginning of period
	$ 20,000
	$15,000
	$35,000

	Add:  Net income for period
	   5,740 
	    4,305
	  10,045

	Less:  Drawings for period
	   2,000
	    1,825
	    3,825

	Equity, End of period
	$ 23,740
	  $ 17,480
	$ 41,220


Corporation.  Under the heading Shareholders’ equity, ownership is shown in two classifications.  Capital stock is the amount the corporation has raised by selling shares to shareholders.  Retained earnings is the earnings that are retained in the business over the life of the business.  Dividends are paid only when the corporation’s board of directors declares that dividends will be paid.  The amount of the dividend (the payout for each share of stock) also is determined by the board of directors.  

Shareholders’ Equity:

    Capital Stock



         
$100,000

    Retained Earnings    



    18,975
Total shareholders’ equity


 $118,975

The statement of retained earnings provides details about changes in the retained earnings during the accounting period.

	STATEMENT OF RETAINED EARNINGS
	

	Retained earnings, January 1, 1996
	$  9,880

	Net income for 1996
	   11,385

	Less:  Dividends
	     2,290

	Retained earnings, December 31, 1996
	$ 18,975


DEMONSTRATION PROBLEM – ADJUSTING, CLOSING AND REVERSING ENTRIES
Olivia Hastings closes her accounts each month.  The bookkeeper is away on vacation and she has asked you to prepare the October financial statements.  She has given you the trial balance for October 31, 200X.  You will review the trial balance in preparation for a meeting with Dr. Hastings during which you will determine which accounts require adjustment; for example, you can see that several expense accounts have zero balances.

	OLIVIA HASTINGS, MD 

	 TRANSACTIONS TRIAL BALANCE 

	 October 31, 200X 

	 ACCOUNT 
	 DEBIT 
	 CREDIT 

	 Cash
	$  1,400 
	

	 Accounts receivable 
	    6,950 
	

	 Prepaid insurance 
	    1,800 
	

	 Prepaid rent 
	    2,000 
	

	 Medical and office supplies 
	    1,800 
	

	 Investment in land 
	 125,000 
	

	 Office furniture 
	    6,000 
	

	Accumulated Amort.:  Off.Furn. 
	
	    2,400 

	 Medical equipment 
	   18,000 
	

	Accumulated Amort.:  Med.Eq. 
	
	    6,000 

	 Accounts payable 
	
	      800 

	 Unearned revenue 
	
	    8,000 

	 Bank loan 
	
	    6,000 

	 Salaries payable 
	
	         -   

	 Olivia Hastings, capital 
	
	 138,750 

	 Olivia Hastings, drawings 
	   19,000 
	

	 Income summary 
	
	-             

	 Revenue 
	
	   25,000 

	 Salaries expense 
	    5,000 
	

	 Rent expense 
	-             
	

	 Medical and office supplies exp 
	         -   
	

	 mort. expense:  office furniture 
	        -   
	

	 mort. expense: medical equipment 
	         -   
	

	 Insurance expense 
	         -   
	

	
	
	

	
	
	

	 TOTALS 
	 186,950 
	 186,950 


Information from your meeting with Dr. Hastings:

1.  She has no concerns about the balance in accounts receivable.  The entire amount is current; that is, all account balances are for medical services performed in October.  She is not concerned about her client’s ability or willingness to pay their accounts.  For the most part they are covered by government and private health insurance plans.

2.  On January 1, Olivia took out a one-year insurance policy covering property and liability.  The premium was $7,200.

3.  Rent is $1,000 per month.

4.  A physical count of medical and office supplies revealed that there is $1,200 worth still on hand.

5.  She purchased the land earlier this year as an investment and plans to hold it for at least five years when she expects prices will increase.

6.  When she purchased the office furniture she estimated that it would last for five years.  At that time there would be no resale value (salvage value = $0).  She told you that her estimate has not changed.

7.  When she purchased the medical equipment she estimated that it would be useful for three years.   There will be no salvage value.  She has not changed her estimate.

8.  She signed a contract with Newman Enterprises to act as the company doctor.  The contract was for one year.  Newman Enterprises paid the annual fee of $12,000 in full on signing the contract.

9.  The bank loan is to be repaid on November 30, this year.  The interest rate is 12%.  Interest is paid every month on the first of the month.

10.  Fee revenue represents amounts billed to patients or their health plans during the month.  The office person was on vacation for the last two weeks of October and none of the invoices have been prepared during his absence.  The amounts have not been recorded in the accounts.  On checking the records, Dr. Hastings advised you that her billings for the two weeks would be about $30,000. 

11. She has one nurse and one office person.  Salaries total $7,500 a month.  Salaries for each month are paid as follows:  the first half of the month is paid on the 15th of the current month and the  other half is paid on the first day of the following month.  The office person was paid for the full month on October 15 as he was going on vacation and needed the money.  Dr. Hastings pays her employees while they are on vacation.

12. She told you that she prepared the bank reconciliation and the balance in the cash account is correct.

SOLUTION

Adjusting the Accounts
1.  The adjustments are recorded in the general journal.

Item 1 - Accounts Receivable.
Dr. Hastings expects to collect the full amount due since her patients are covered by OHIP or private medical insurance plans.

Item 2 - Prepaid Insurance. The balance in insurance expense is $0.  Insurance expense for the month of October has not yet been recognized.  The total premium was $7,200 for the year.  One month’s expense is $7,200 / 12 months = $600.  The balance in the prepaid account can (and should) be verified.  Ten months of the policy has lapsed -- January 1 to October 31.  There should be two months remaining ($600 X 2 months = $1,200).  The balance in the account is $1,800.  After the adjusting entry is made, there will be $1,200 in the prepaid account and $600 in the expense account. 

The entry is a type 1 adjustment --  a prepaid asset has been partly used up.

Dr. Expense  






Cr. Prepaid asset


Insurance expense, a debit account, is increased with a debit entry.  The asset, prepaid insurance (a debit account), is decreased with a credit entry.

This entry recognizes that she has used up a portion of the insurance coverage (a cost of operating her practice -- an expense) and that the asset’s future benefit has been reduced to two month’s coverage (November and December).

Item 3 - Prepaid Rent.  The balance in rent expense is $0.  She has told you that her rent is $1,000 a month.  The rent has been paid.  The amount is in the prepaid rent account.

This also is a type 1 adjustment  -- a prepaid asset has been partly used up.

Dr. Expense 




Cr. Prepaid asset 

The entry recognizes that she has used up a month’s rent (for October) and that the prepaid rent only has one month’s future benefit remaining.

Item 4 - Medical and Office Supplies.  The balance in medical and office supplies expense is $0; the balance in the medical and office supplies inventory account is $1,800.  There is only $1,200 worth on hand at the end of October.  They used up the difference ($600 worth).

This also is a type 1 adjustment -- a prepaid asset has been partly used up.

Dr. Expense


Cr. Prepaid asset

The entry recognizes that she has used up $600 medical and office supplies during October and that the future benefit of medical and office supplies inventory is reduced to $1,200.

Item 5 - Investment in Land. 
No entry is required.  This information tells you that the land is not a capital asset -- it is not an asset she uses in the business.  It also informs you that her intention is to keep the land for more than one year.  It will not be classified as a current asset on the balance sheet.  It is not a capital asset.  It should be reported under the category, Other Assets.  

Item 6.  She paid $6,000 for the office furniture and estimated that it would be useful for five years (60 months).  Estimated salvage value is $0.  The monthly amortization expense is ($6,000 - $0)/ 60 months = $100.

This is a type 5 adjustment -- an estimated item.

Dr. Expense


Cr. Contra-account 







This entry recognizes that she has used up a portion of the future benefit of the furniture and that the future benefit has been decreased by one month’s usage.

Item 7.  She paid $18,000 for medical equipment, which she estimated would be useful for three years (36 months).  Estimated salvage value is $0.  The monthly amortization expense is ($18,000 - $0) / 36 months = $500.

This also is a type 5 adjustment -- an estimated item.

Dr. Expense


Cr. Contra-account

This entry recognizes that she has used up a portion of the future benefit of the medical equipment and decreases the future benefit of the asset.

Item 8.  The $12,000 received from Newman Enterprises represents payment for services over the period of a year.  This represents revenue that was not yet earned -- unearned revenue.  Unearned revenue is a liability (Dr. Hastings owed service for a year to Newman Enterprises).  Every month she earns a portion of this amount ($12,000 / 12 months = $1,000).  The first step is to make certain the revenue for October is not included in the revenue account.  Item 10 informs you that revenue in the revenue account relates to revenue billed to patients or their health plans.  Therefore, unearned revenue has to be adjusted.

This is a type 2 adjustment -- unearned revenue is earned.
Dr. Liability


Cr. Revenue



This entry recognizes that she has earned a portion (one month) of the unearned revenue and that she now owes one month’s less services to Newman Enterprises.

Item 9.  The bank loan is a current liability -- it is due in one month’s time.  The cost of borrowing money is the interest charged.  Interest is payable on the first of each month; the October interest will be paid on November 1.  However, the expense for the use of the funds (interest) during October must be recorded as a cost of operating for the month of October.  The interest expense for one month is calculated as follows:  

Principal (amount owing) X interest rate (annual rate)
Number of interest payments per year

$6,000 X .12 / 12 months = $60 per month  

This is a type 4 adjustment -- recognition of expense incurred.

Dr. Expense


Cr. Liability



This entry recognizes that she has incurred an expense (interest on the loan) and that she owes the amount to the bank (a liability as of the end of October).

Item 10.  Billings for the last half of the month have not been done:  invoices have not been prepared and have not been recorded.  This revenue was earned in October and the accounts must be adjusted to include it.

This is a type 3 adjustment -- revenue earned is recognized.

Dr. Accounts receivable


Cr. Revenue



This entry recognizes that Dr. Hastings has earned $30,000 more than has been recorded during the month and that her patients owe her.  Amounts receivable are assets; they have future benefit -- cash inflow which will be used to pay her liabilities and to operate her practice.

Item 11.  Employees are paid $7,500 in total for each month of service.  They are paid for the first half of the month on the 15th of the month.  They are paid for the last half of the month on the 1st of the following month.  On November 1st, the nurse will be paid for the last half of October.  The salaries expense account has a balance of $5,000.  This represents the office worker’s salary for the entire month and the nurse’s salary for the first half of the month.  The balance of the nurse’s salary [$7,500 (total salaries expense) - 5,000 (amount paid so far)] is an expense relating to October and must be included in the October financial statements.  Also, it is a liability.  Dr. Hasting’s practice owes the amount to the nurse.

This is a type 4 adjustment -- recognition of expenses that have been incurred.

Dr. Expense


Cr. Liability 

This entry increases salaries expense to the actual cost of salaries for the month -- $7,500.  Dr. Hastings has used the services of her employees for the month.  This also recognizes the fact that as of the end of October, she has a liability -- she owes the nurse for half of the month of October.

Before the adjusting entries were made, one asset was understated (accounts receivable), some were overstated (the prepaid assets).  Before the adjustments, one liability was overstated (unearned revenue) and some were understated (salaries payable and interest payable).  Before the adjustments, both revenue and expenses  were understated.

After the adjusting entries have been posted, a second trial balance, the Adjusted Trial Balance is prepared.

The financial statements are prepared from the adjusted trial balance 

Unadjusted Financial Report
From Olivia Hastings’ perspective:

Solvency  

Cash




$1,400

Accounts receivable


  6,950

Plus two weeks revenue


30,000
Cash available in next 30 days

38,350

Cash requirements:

Accounts payable


$   800

Payroll
(2,500 + 3,750)


  6,250





Bank loan



  6,000

Cash required in 30 days

13,050

It appears that there will be enough cash to satisfy payments to be made in the next 30 days.  She knows she has to pay the nurse $2,500 tomorrow and meet another payroll on November 15 ($3,750).  She also knows that she has other billings to be mailed, which will result in additional cash inflows.  However, there is so much information missing in the income statement, she would question the reliability of all information in the statements.  Is any other information missing? or stated incorrectly?  She does not know.  The information is not reliable.

Profitability
The income statement does not give any real indication of how profitable the month was.  All of the expenses except salaries are missing, and salaries expense does not take into account the nurse’s salary for the last half of the month.   Part of the month’s revenue is not included.  She does not know where she stands.

It is not wise to make decisions based on unreliable information.  It is impossible to make the best decisions.  If you had reliable information, your decision would be a different decision in most cases.

From an outside user’s perspective:

Solvency
One of the things that short-term creditors look at is the ratio of current assets to current liabilities.  This is called the CURRENT RATIO.  As a rule of thumb a ratio of 2:1 is acceptable, but this varies from industry to industry.  Olivia Hastings, MD’s current ratio is


$13,950 / $14,800 = 0.94

This would make short-term creditors nervous especially if they discovered that the bank loan is due within the next 30 days.

Profitability

An outsider would put very little faith in the income statement.  The reader can see from the balance sheet that Olivia does not own the premises she occupies (there is no building in capital assets); the reader knows immediately that there has to be some rent expense.  What other expenses should be included and how much?  They don’t know that half the month’s revenue is not showing in the income statement and based on past statements they probably would wonder why she had such low revenue in October.  Is she losing clients?

The equity statement shows that she took almost all of the profits out of the business.

The outsider would probably not be interested in selling on credit terms.  The figures presented as well as the quality of information she is using to make decisions would make them wary.

Adjusted Financial Report
From the owner’s perspective:

Solvency
Cash inflows will be significantly greater than cash requirements over the next accounting period.

Cash



$  1,400



Accounts receivable

  36,950

Cash + cash inflows

$38,350



Cash outflows


$ 13,050 

Profitability
Costs of operating are less than 20% of revenue.  Her drawings is less than 50% of profits for the period.  She would compare this month with previous months to see if there is any trend in revenue and profit -- are they increasing steadily?

She can make good decisions with this information -- upgrading equipment, expanding the practice by bringing in another physician or physicians with different specialties, or just maintaining her current practice if this satisfies her financial requirements.

From an outside user’s perspective:

Solvency
The current ratio is 


$41,750 / $16,360 = 2.6

She can carry more debt and suppliers would be willing to oblige.

Profitability
This is a profitable practice.  Her drawings are reasonable given the level of profit.  Suppliers will work hard to earn her business.

After the financial statements are prepared, closing entries are recorded in the journal, and posted to the general ledger.  A post-closing trial balance is prepared.

MULTIPLE CHOICE QUESTIONS

1.
Victor Newman Inc. shows the following information in its accounts for the month ended 
February.


Accounts receivable

beginning balance

$100,000






ending balance


    90,000


Cash sales






 $ 68,500


Unearned revenue

beginning balance

 $ 15,000






ending balance  

   
    12,000


Cash collections - customers’ accounts



$507,000


The total amount of sales is:


a.
$497,000


b.
$428,500


c.
$568,500


d.
$528,500


e.
none of the above

2.
The accounting statement providing data as to the results of operations or income earned by the firm for a specific period of time is the:


a.
statement of retained earnings


b.
statement of changes in financial position


c.
balance sheet


d.
statement of financial position


e.
none of the above.

3.
When a company receives a deposit from a customer to protect itself against non-payment for future services, the deposit should be classified by the company as


a.
revenue


b.
a liability


c.
part of the allowance for doubtful accounts


d.
a prepaid amount


e.
none of the above

4.
Expense accounts:


a.
eventually increase the balance in the owner's capital account


b.
usually have credit balances


c.
show the costs associated with producing revenue during an accounting period


d.
all of the above


e.
none of the above

5.
Which of the following is an accrued liability?


a.
cash dividends payable


b.
wages payable


c.
rent revenue collected one month in advance


d.
portion of long-term debt payable in current year


e.
none of the above

6.
The accounting assumption that prohibits a corporation from including the president’s personal automobile (that is not used for business purposes) as a corporate asset is:


a.
conservatism


b.
accounting cycle


c.
entity


d.
operating cycle


e.
none of the above

7.
The following financial statements cover a period of time:


a.
income statement and balance sheet


b.
balance sheet and statement of changes in financial position


c.
income statement and statement of financial position


d.
statement of earnings and statement of assets, liabilities and owners' equity


e.
none of the above

8.
Which of the following is not an internal event?


a.
amortization


b.
using raw materials in the production process


c.
dividend declaration and subsequent payment


d.
all of the above


e.
none of the above

9.
Adjusting entries are necessary


a.
to obtain a proper matching of revenue and expense


b.
to achieve an accurate statement of assets and equities


c.
to correct errors in the accounts


d.  
both a. and b. above


e
none of the above

10.
Which of the following would not be a correct form for an adjusting entry?


a.
a debit to a revenue and a credit to a liability


b.
a debit to an expense and a credit to a liability


c.
a debit to a liability and a credit to a revenue


d.
a debit to an asset and a credit to a liability


e.
none of the above

11.
Accounts receivable and accounts payable are examples of


a.
nominal accounts


b.
control accounts


c.
subsidiary ledger accounts


d.
both a. and b. above


e.
both b. and c. above

12.
The following information is available for Sharon Collins Handicrafts Store



Payment for goods during 1995


$84,000



Accounts payable, December 31, 1994

  11,000



Inventory, January 1, 1995


  10,400



Accounts payable, December 31, 1995

    7,200



Inventory, December 31, 1995


    9,700


Cost of goods sold for 1995 is


a.
$79,500


b.
$80,900


c.
$87,100


d.
$88,500


e.
None of the above

13.
Compared to the accrual basis of accounting, the cash basis of accounting overstates income by the net increase during the accounting period of the



Accounts Receivable

Accrued Exp. Pay.

a.

No



No


b.

No



Yes


c.

Yes



No


d.

Yes



Yes


e.
None of the above

14.
Dr. Tanita keeps his accounting records on the cash basis.  During 1995, he collected $150,000 in fees from his patients.  At December 31, 1994 he had accounts receivable of $20,000.  At December 31, 1995 he had accounts receivable of $35,000 and unearned fees of $5,000.  On the accrual basis, how much was Dr. Tanita’s patient service revenue for 1995?


a.
$130,000


b
$160,000


c.
$165,000


d.
$170,000


e.
None of the above

SOLUTIONS TO SELF-STUDY PROBLEMS

Multiple-choice questions
1.  (c)
Sales revenue for the month:


Cash sales





           $   68,500


Plus sales on account (507,000-100,000+90,000)

490,000


Plus unearned revenue that has been earned


(15,000-12,000)




 
    3,000

Sales revenue





           $568,500
It is helpful to use ‘T’ accounts for this type of problem.  Set up the accounts with opening and closing balances where available, post the other information, and solve for the missing amounts.  Post the missing amounts to the appropriate accounts and you have the answer.


               Cash



            Unearned revenue







          



    68,500




 3,000
    15,000








           

    12,000


 Accounts receivable



 Sales revenue


 100,000         507,000




    68,500









      3,000









   497,000


   90,000









   568,500



2. (e) 
The income statement.

3. (b)
The liability is ‘unearned revenue.’

4. (c)


5. (b)
Wages are accrued at the end of the accounting period if employees have not 
been paid up to the end of the accounting period.  If they had been paid up to the end of the accounting period, there are no wages payable.  The only entries made to this account are accruals and reversal of the accruals.


The other items all are liabilities but are not accrued.  Cash dividends payable are recorded only when they are declared, they are never accrued; revenue collected in advance is a liability -- a deferred revenue; the current portion of long-term debt is a current liability.

6. (c)
The president’s personal automobile is not owned by the corporation -- the entity.  The assumption states that the entity is accounted for separately from its owners or other business units.

7. (e)
The financial statements that cover a period of time are:


Income statement


Statement of retained earnings


Statement of changes in financial position


The balance sheet (or statement of financial position, statement of assets, 
liabilities and owners’ equity) is reported at a point in time -- the close of business 
on the last day of the accounting period.

8.  (c)
Dividends payable (at time of declaration) and paid are to shareholders.  Shareholders are separate from the company.  Internal events are events that occur within the entity.
9.  (d)
Entries to correct errors are called ‘correcting entries’

10.  (d)
Every adjusting entry affects a balance sheet account and an income statement account.  An entry affecting only two balance sheet accounts is not an adjusting entry.

11.  (b)  
Accounts receivable and Accounts payable have subsidiary ledgers, but they are not subsidiary ledgers.  Individual customers and suppliers are the accounts contained in the respective subsidiary ledgers.
12.  (b)
Purchases = payments + A/P ending balance - A/P beginning balance


(84,000 + 7,200 - 11,000) = $80,200


Cost of goods sold = beginning inventory + purchases - ending inventory

(10,400 + 80,200 - 9,700) = $80,900


(Try to solve this problem using ‘T’ accounts as shown in HP, Mtg. 1)

13.  (b)
A net increase in accounts receivable would understate income determined on a cash basis.  If an adjusting entry increases accrued expenses payable, expenses are understated when income is reported on a cash basis; therefore, income would be overstated.
14.  (b)
Revenue calculation:  Cash received - opening receivables + ending receivables - unearned fees  (150,000 - 20,000 + 35,000 - 5,000) = $160,000


Of the cash received, assume the first 20,000 paid receivables for services provided during the previous year and 5,000 was received in advance for services not yet provided.  The ending balance of accounts receivable represents cash due for services rendered and therefore, is earned during the current year.  (This problem also can be done using ‘T’ accounts.)
DEFERRED ITEMS -- Cash transactions occurred in earlier accounting periods but recognition of revenues  / expenses is deferred until revenue is earned or asset is used up.





ACCRUED ITEMS – Cash transactions have not yet occurred.  Items not yet recognized, that must be recognized in this accounting period are accrued items.









































Goods available are either sold (and become the cost of goods sold) or are not sold  (and remain in inventory)





497,000





3,000





Income statement





Balance Sheet





Balance


Sheet





Income statement





Balance


Sheet





Income statement





Balance sheet





Income Statement





Balance sheet





Income Statement
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